Name of the Teacher : Ms. Reeja. K.
Subject : Economics
Lesson : Chapter 1 Development
Learning outcomes : 1. The learner will be able to compare the developmental goals
: 2. The learner will be able to know how human development will result in

Economic Development .

: 3. The learner will be able to understand the harmonious existence of
Individual and Development.

Typology: Identification
1. With the help of the following clues choose the correct answer
A) World Bank uses this Criterion to classify countries
B) It hide disparities
C) Using this Criterion countries are divided into Rich and Poor
D) When we divide the total income of a country by its population we will get this
a) National Income
b) Human Development Index
c) Per Capita Income
d) Body Mass Index
Answer: ¢ ) Per capita income

Typology: Assertion and Reason.

2. Assertion: A) Many resources will get exhausted after years of use.
Reason: R) We do discover new resources that we did not know earlier
A) Both A and R are correct and R is the correct explanation for A
B) Both A and R are correct and R is not the correct explanation for A
C) Aistrue butR is false
D) Aisfalseand R is true
Answer: A
Typology: Statement Identification

3. Which of the following statements is not correct?
A)Money cannot buy all the goods and services
B)Ground Water is a renewable resource
C) UNDP compares countries based on literacy rate, Health status and per capita income
D) Literacy Rate measures the proportion of literate population in the 12 and above age
group.
Answer: D



Typology: Choose the correct answer

4. For calculating Body Mass Index, weight of the person is divided by the
A) Square of the height
B) Square of the weight
C) Square root of the height
D) Square root of the weight
Answer: A.

Typology: Match the following.

5. Match the following

A B
a) Human Development Report i) Calculated in Dollars
b) Per capita income ii) Mix of goals
c) Kerala iii)UNDP
d) Development iv) Low Infant Mortality Rate

A) a-iii, b-i, c—iv, d—ii

B) a-i, b-iii, c—ii, d-iv

C) a-ii, b-iv, c—i, d-iii

D) a-iv,b-ii, c-iii, d—i
Answer: A.



